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QUESTION 1

Which command will suppress LLDP messages from egressing on a given port while still allowing LLDP to be enabled
on the switch?

A. switch(config-if)# no lldp interface (port) transmit
B. switch(config-if)# no lldp transmit

C. switch(config-if)# no lldp receive

D. switch(config)# no lldp

Correct Answer: B

QUESTION 2

Which switch supports a maximum of 8 line-cards, 3 fabric modules, and 2 management cards?
A. Aruba 8400

B. Aruba 8408

C. Aruba 6410

D. Aruba 5412r

Correct Answer: A

Reference: https://packetpushers.net/aruba-8400-review-2/

QUESTION 3

Refer to the exhibit.

Mstr

+--—+ ===+
| 2 |1=1] 1 |

+-—=+ +-—=+

Access-1(config)# I

What VSF command produces the above output?
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A. show vsf member
B. show vsf link

C. show vsf topology
D. show vsf detail
Correct Answer: C

Reference: https://techhub.hpe.com/eginfolib/Aruba/OS-
CX_10.04/5200-6790/index.html#GUID-88F65EB4-C1F9-49C7-9FB2-F994AB9DODS8F.html

QUESTION 4

What is a benefit of choosing a 3-Tier design with routing at the Aggregation layer?
A. Better Core router performance by offloading processing

B. Shifting endpoint access to the Aggregation layer from the Access layer

C. Using access control lists (ACLs) at the Core to improve performance

D. Connecting WAN/MPLS and Data center access to the Aggregation layer

Correct Answer: A

QUESTION 5

Which two options are considered the Layer 2 protocols? (Choose two.)
A. 802.1Q

B. IPSec

C.STP

D.RIP

E. 802.11af

Correct Answer: AC

Latest HPE6-A72 Dumps HPEG-A72 Study Guide HPEG-A72 Braindumps

Latest HPE6-A72 Dumps | HPE6-A72 Study Guide | HPE6-A72 Braindumps

3/3


https://www.geekcert.com/hpe6-a72.html
https://www.geekcert.com/hpe6-a72.html
https://www.geekcert.com/hpe6-a72.html
http://www.tcpdf.org
https://www.geekcert.com/hpe6-a72.html
https://www.geekcert.com/hpe6-a72.html
https://www.geekcert.com/hpe6-a72.html

